dt

& 585 [2@MpARERI-K] 2730160
H]’ [+ vFTL—X] WEVLE - ZNHL - PETULVEXR
[41V5=%y Mi—LAR=Y] http://www.shimamotocho.jp/

H
: T [N T 1
1 ==y e It 5 : e o
! % 7| 075- 9615151 Il - Ak A
: e AT 752077 +—bk(CK)
H *q- L S ’:jj ~u
H ' Wl ok
1 ) =
: o L (367%) i o+
] B L #15. 4. 1 | WTHIGEST
V| R340 [ B ML B[AIEBE H EM
1 - -

iy ’/‘? = 2%
| sk |2 st | 5 e
AT E L
: 5 2 14 | 14 | R34.29
E (=] (R2. 11. 1197E)
! (m A0 (2) AO&EpgE
i 158K [ 15~ 642 [ 658 DL L[ ppe e o | |
1 . A " N BRL . AR | N (e | 00
i N NI et i e IR ) B Ok | (%) | (%) Mo
I [H17.10. 1(I#) 20052| 148| 680] 169] 10867 | [H1710. ()| 1731] A36] 169] 770
: H22.10. 1 (=) 28,935 14.3 64.3 214 11,248 | |H22.10. 1 () 1724 | A04| 214\ 762
: H27.10. 1( 29983 147 59.7 256 12,012 | |H27.10. 1 () 1,784 36| 256 760
VIR 2.9 1GERD 31,173 — — —| 12927
| (3) i (4) BIEEH(R2.957)
D ATE R (R2.33134E) 1681 kni | | 53 'S i
VLD TR (R2.3.315L4E) 354 ha 12312 A 13940 A 26252 A
| (ER)
! (1) EREE(H27E:H) (2) Bz - 1% - |\
VLK o [BREALION) | it (%) 2 ¥ | RBRRH REPHLRER
Vs o e % 78 06 (H274E - ) 141 7 4119 a
Vg 2 k@ ¥ 3122 229 T S| g PEEEN BESINERE
HEERS - 9,936 729 (R14F - fet) 14 it 1,659 A 493 fi5H
G 7N D) 13629 1000 I % | HEpiN PEEEN MRS
1 _ - = . : I Xid
| [(TREE] (H264F - fEh) 111 814 A 506 1
1 (D) BEXH(R2.4.1187) (2) SRINA L RIBE
! & # 1 266 A (84 A/AOTA)] [ H3L 41 | 999]
H AR B 238 A (75 A/ALITA)
H — AT 157 A (50 A/AETA)
i FERITTE LA (26 AMATIFA)
i ZoMosE &t 27 (09 MALFA)
| e
i i 200 A (6510 A/ALIT5A)
i [#tEsR]
! (1) S 2FEFEHR (BAA) (@) S%0EE (BAM)
! TH H THE TH H B3
VBT 0 AL ARG 5 3783 | | #ifl o F v A ) A EGAERT I —
U SRR O L FA it 1473 | | BB & ORHEAL -
! PRE LD, RE L O 219 | | FBETC - HEREORTFE —
! WY 561 T 80JE 4 R 3 2| | AT - IR O —
! SR VA AV O YN 34| | IREARFEHX D FEEOLD —

R47F] BR) : 84&=E DU, (108) 1 FRAA—VER, (118) 1 LH
[#E HER] 12D, BSOXKEEBD

_70_



o ChATRCARI— ). QST R OBH

(BB (1) ez (EEash) (EAM. %)
% A | & H | FEENGE | BRI | FEIGE | By g | B ICs | B
R 14 11488 11146 61 12 09 6,762 972 0.782
H304E 10958 10,795 19 A 151 07 6,852 101.7 0.787
H204F ¢ 11,734 11513 200 144 30 6715 88.1 0.768
(2) FERWA - R (BAM. %) ) NEEEEFRERIFEE) (BAHM)
X 5 | RUEEE MR HBOMEHE [HBUIE) HROMEE [HERLIL) | g |6 W & 72
y z LIRS 657
M A Eh| 11488[1000| 10958| 1000| 11734] 1000| - = E ol
#o 7 B 5159| 449| 4984| 455 5267| 449| [T BElgy w4 4 _
o7 %A B 1.252] 109 99| 83 136 15| [ |8 B OH & 4
TKE s
[wmzetihe|  1185] 103[ 865 79| 1307] 1Ll iﬂﬂjgf @g 3
B -HF 4| 2370 206 2006) 183|  2317| 197 ﬁﬁ*£%§ﬁ¢>$§ —
WUy f 1058 92 868| 79 1418] 121 P ——
B FH| 1146|1000 10795( 1000| 11513| 1000 RI1EE) (FHAm)
R ET 5798| 520 5428| 503| 5408| 470 % &ﬁﬂ%sgi 1455
el 1,026
A fF #| 1990| 179 1980 183  1943| 169 i%mm%maﬁ e 567
P B ®| 2737| 246  2457| 228)  2486| 216| | w & 3 3818
;E i
&Mt ‘1072 96 992| 92 980| 85| | o[BI~ A&7 b [ 1216TH
mamm | 74| 69 1189] 110 1984] 169| || H F 9[1077M
m - Hi Vi fi& 11,501
ERERTEE 764| 69 L116] 103| 1931] 168| | E k& 70 il 36351
414| 37 841 78 442| 38 [l & F [ 3478FH
(5) f@2{bkrtk R (%)
FEARTFHE | EEEERTIE | FEARTEE | IrAHEE () FfEs ek
R 142 — (1413) — (19.13) 35 [72] — 1 — 0|0 ke
H304E — (1410 — (19.10) 33 [ 80] —[ =1
H294E — (1415) — (19.15) 43 [89] — [ 48]
(6) EFFERFLEORR(FERE) R1EE) BAM. %) (7) FEREIBHEDKR(R1EE) (BAM)
FERL - | ‘& H H 4 A
X a5 "SR] AR 5 A I E R TR 0
(R4 #| s | | ﬂjﬂaiﬂfm( BRATE) 11501
& G % 61 KRB R AR 3502
PUESSE 1189 = | & [ERFNaEREAE 925
L O T 1 | TIRBI5 AR S O B A B LA A 13
& 1O B A @LTE%E) ~ Zom 0
FT oAk H R G 67 || It 5011
S |5 bR T M) 0 Ty ’
T I T, 16 A | TS 4,898
Tz ) i a7 g 2 [FEST R A 3233
T 6.762 e Ty NN 10,152
I A 1,479 TG 18,282
(8) BIRDIKR (EHM. %)
K5 R1 4 H30 4 J& H29 4F B
) PONHEER (RERCIE) | BOREs | IOATEEE (BERit) | BODEE | IUATE Gaitt) | BIGE
B F 5159 (100.0) 956] 4984  (100.0) 953 5267 (1000) 95.2
F A 1797 (348) 97.8 1768 (355) 975 1763 (335) 97.3
HlE A 893 (17.3) 99.9 766 (154) 99.9 1081 (205) 99.9
I 2690 (521 985] 253 (508 982] 2844  (540) 983
EE 647 (125) 99.0 670 (134) 9838 662 (126) 979
 JE 897 (174 99.0 845  (169) 988 848 (161) 979
| 374 (73)] 1000 404 8D 1000 390 (74) | 1000
E 1918 (372) 99.2 1919 (385) 99.1 1900  (361) 983

|

m

HERR DR [F

B (DR XOIRRE

=

PEEENH SR



